A2

The book is the table.
Answer:

She is sitting me.
Answer:

We are going the cinema.
Answer:

He lives the city.
Answer:

The cat is hiding the couch.
Answer:

| am leaving work.
Answer:

The keys are the drawer.
Answer:

We walked the park.
Answer:

The car is parked the garage.
Answer:

The restaurant is the corner.
Answer:




Answers

The book is the table.
Answer: on
She is sitting me.

Answer: next to

We are going the cinema.
Answer: to

He lives the city.

Answer: in

The cat is hiding the couch.

Answer: behind

| am leaving work.
Answer: from

The keys are the drawer.
Answer: in
We walked the park.

Answer: through

The car is parked the garage.
Answer: in
The restaurant is the corner.

Answer: around



